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1 BIES 1kg 1 |®ES 1keg
2 |EEf 1kg 2 |EE BERS 348| 1kg 2,376 864
3 Kahvh kg 3 Kahvb 1kg
4 |&F R -F0gL 222| kg 2,776 302 4 |=IF 1keg
5 [HL El-B51R 134| 1kg 2,916 540 5 |&HL 1kg
6 [LvL BE-L5 295 kg 486 184 6 [LvbL 1kg
1 g0 | R 25| 1kg 1,674 1 |F5H0h 1keg
SAE 1kg 8 |SAE 1keg
9 |ARY Ea-BE 51| 1kg 2,916 1,674] 9 |5Y 1kg
10 |&ZL E=1l| 41| ke 648 540| 10 |xZL 1keg
N M2E  |=%-mmw 146] kg 702 216 11 |2 1kg
12 |7=Ly 12k B 661 1kg 1,404 918| 12 |f=Ly kg
13 |[FFL 1kg 13 [[FFH 1kg
14 |[HILY | semis-mm 84| kg 454 270| 14 iy kg
15 [OH& 1keg 15 | 058 =81 24| 1kg 3,456 1,620
16 | AN Tkg 16 | AN Tkg
17 |2 U AN AT 7| kg 2,592 1,998| 17 |Z U 1kg
18 | YLy 1kg 18 | YLy Tkg
19 |1=2 dbiEE 15|  1kg 3,240 19 |f=C kg
20 & Tkg 20 |vE Tkg
21 |HSY B JmiE 20| kg 2,700 1,512| 21 |y 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 27| 158 16,200 2,700
23 |BEHP | B 39| kg 2,484 2,052| 23 |#EFEHD Tkg
24 | E B4 - hE 165 ke 6,102 4,860| 24 |5%F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&mEt A7 -7 H)h 520| kg 2,592 1,080) 1 |i&xIt JY=-FY 1,728| 1kg 1,598 756
2 |AhIz Y7 -hty 155| 1kg 6,156 4320 2 [ExE Iy FE 348| 1kg 1,296 864
3 |BAY  |5vepawa 636 1kg 3,154 2052 3 ESAFE 1kg
4 |ATFLbL |BR-FE 80| 1kg 1,156
5 [FAHL RI& 100] 1#& 130
6 [ bYDHA kg
1_|IhNEF Tkg




